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Here, he is not destroying the principal — RITP RV90% KOT N7

OVERVIEW

The X723 states that (were it not for the P09 of "\ 937 "nPwn) we would have
interpreted now to refer to 1w in a case of X11p X°2on X2 (and w21 would refer to a
case of R17p RX°20n). *"w1 and M»doIN have differing opinions as to the interpretation
of R17p X1 RY.

- 25NN XY YA MNYY PRYY NNy 1090190 v
“""w explained that the meaning of X117 X*957 X7 is in a case where an animal ate
the immature crop as fodder. It will eventually grow back but not as it would

have initially, had the animal not eaten it. It is considered 811 X>231 XY, since the crop is not
totally destroyed; it is merely diminished.

Mmoo has a difficulty with >"w79:
= 91879 09192 0N DYHYAN DIV NITP NN XM YD

And this explanation is difficult! For this should be considered N1vp 8222 since

the owners were also capable of harvesting these stalks for fodder, and they lost this
opportunity due to the animal of the 1. The loss of fodder should be considered R17p &*52n!

mooin offers a different explanation of X17p X*91 K:
- *nnNany >mese NoLY Y Y NYN

We can rather say that she soiled fruits for her pleasure. The fruits can be cleaned
and the X172 is not destroyed. There is however some damage to the fruits, for their quality is
somewhat diminished.

mooIn resolves an anticipated question:
= 9N NNNINT M9 NNV 1IPY NYY 9P OIPN Yan

Nevertheless, notwithstanding what we are now maintaining that 7nX37% N11°0 71930
can be derived from the 7N, nevertheless the X3 later calls 7ARIT> M=% 53w

Pypx .

% The animal ate the tops of the (immature) stalks, and left over a sufficient amount of the stalks to enable it to
produce the crop.

? The term N0, (seemingly) refers to grains and the like, which can withstand (to a degree) the M2 7910

* See later on this Ty that AnX3T> M°D 793V is a 7720 of 1w, since it is done for her pleasure. See >"wA there 7"7
119orn1 that it means she rolled on the Mo, etc.

> The xm3 shortly states that (even if the word 721 is referring only to X197 X*79n, nevertheless) we derive X991 XY
X17p from the wpn of 937, This wpn is considered as if it is written in the 7710, and therefore 7nRIT> M0 7510
should be considered an 2ax. [Alternately according to the X3p0n we derive W from n%w1.] See ‘Thinking it over’ # 2.
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merely a 77790 of 1w and not an ax; seemingly it should be considered an 2x!

mooIN responds that 7NRITY M0 79IV is a W7 AT -
$NIIP NOTINT NN Y9N NIPT NYVWT 1)

Since the obvious interpretation of the oo refers to eating, which is N°%5%

R19P. Therefore any type of damage besides eating is referred to as a 77210, even though that the
770 alludes to it.

SUMMARY

According to *"w1 the meaning of R17p X701 XY is pnw n95K; while according to
mooIn it refers to M7°9 7910 (which nevertheless remains a 77210 since the P09 is
discussing eating).

THINKING IT OVER
1. Is nnw 790K an 2y, or a 7721N0?

2. MoYIN maintains that R17p &°99n K2, which we ultimately derive from a wp°r, is
referring to anxT> M0 71910.° Why is the w1 necessary; seemingly even without
the wp°1 we would now that 7nRIT? M7 1910 is 20 for it is a W7 777N, just as
ANRITS 9MD2 720101 is a 779N of w2’

® See footnote # 5.
7 See R"aw7 wTA and 7"MK.
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